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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E1
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P6AE

BrE) | GEBATK (F) | EHRE(EH/AR) | EREE (G/R) [ KR R

07:30 327 160.0 0.314 5| FEAe07:30 KEIEFE CGRAEESE)
08:15 327 160.0 0.314 5| FHAQO8:15 KENFEF (RAfEEEE)
09:25 327 160.0 0.314 5| FMHA@09:25 KENFZEF (RA{ERENER)
10:20 327 160.0 0.314 5| FEAe10:20 KEIEFE CGRAMFESE)
11:10 327 160.0 0.314 = FHEA@11:10 KENFZEF CGRAMEEE)
11:55 327 160.0 0.314 & FiHfet11:55 KRHEIEF (REERES)
12:40 327 160.0 0.314 5| FEAe12:40 KEIEFE CGRAMFESE)
13:25 327 160.0 0.314 E(  FiHRe13:25 KREFEF CGRAERE)
14:10 327 160.0 0.314 5| FHAe14:10 KHEF (RAERESE)
14:55 327 160.0 0.314 5| FHAe14:55 KEIEFE CGRAFESE)
15:45 327 160.0 0.314 5| FHAe15:45 REEF (RAEESE)
23t 3597.0 (11)%) 1760.0 3 HKEC: 2080.0, PH: 5.5

#H[EKRECE (2233.0 vs 4000.0) 35




FRV (ml plant-1)

ET (ml/hr/plant)

P6AE_E1, Day=59 (2025-06-03)
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P6AE

BfiE) | EBAK ) | EHE (EHR/HK) | ERERE (/R | XK SRR

07:00 327 160.0 0.314 = {RRiB007:00 B (RFAEEE)
07:45 327 160.0 0.314 = RRi1B007:45 Bz (RAEEE)
08:25 327 160.0 0.314 = {RRiB008:25 Bz (RFAEEE)
09:15 327 160.0 0.314 =l RRiB009:15 B (RFAKEE)
09:55 327 160.0 0.314 = {RRiB009:55 Bz (REAEEE)
10:35 327 160.0 0.314 = {BRi18@10:35 B (GREAERESE)
11:20 327 160.0 0.314 =l {Rige11:20 B3 (RAERSE)
12:15 327 160.0 0.314 =l RiBe12:15 Bz (GREAKEE)
12:55 327 160.0 0.314 = Rige12:55 Bz (REAEEE)
13:35 327 160.0 0.314 [Z=| 1Bige13:35 Bzh (REERESE)
14:10 327 160.0 0.314 |z =| 1Ri%e14:10 B3 CGREAZERE)
14:45 327 160. 0 0.314 |Z=| Bige14:45 Bz (GREAERESE)
15:20 327 160.0 0.314 |Z=| 1Ri&e15:20 Bzl (GRAEEE)
15:55 327 160.0 0.314 |2 =| 1Ri%e15:55 B (REAEZEBE)
H2it] 4578.0 (14)%) 2240.0 3EGHKEC: 2080.0, PH: 5.5

AREHTERRA (0.91) , BEE

MEREHER 2 STHAE AR (301.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

3 [ERECE (2240. 0 vs 3970.0) i3

ERGEERIPH (6.6) S5iRE(E (5.5) REKK, FHRE.
LRGERIPH (6.6) SHRAVEE (5.5) RERK, FRE.



P6AE_E1, Day=58 (2025-06—02)
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